.

1.

b
#

g oA & S g

(A) 159
(B) 2099
(C) 254

- (D) 309§

e, 3] TE | w7t 8 AT Jwon & B

2 3t Tl A o st 2 Afee e
¥ ol B, a1 TeAT 8

(A) oL E &S
(B) Himat & BIet
(C) =mey et st

(D) vl & BIA

:. | (8-413) w1 wier 2
LW ()
©) (5-2)

i~ 1 — =)\

1.

On a fixed rate of simple interest an
amount is doubled in 10 years. In how

many years will it be tripled ?
(A) 15 years
(B) 20 years
(C) 25years

(D) 30 years

If Shaloo is taller than Rakhi but
shorter than Prerna and Rakhi is as
tall as Meghna but taller than Komal,
then Meghna is

(A) Taller than Shaloo
(B) Shorter than Komal
(C) As tall as Shaloo

(D) Shorter than Shaloo

The square root of (8—4\/§ )is

) (2-+3)
(

S
AAN
5 & 2

|
R
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4. 9 A B, C T 90 W oA fag B ‘
e F= O 8 91 ZAOB =90° W
/BOC =120° @ @8 ZABC U= ®

(A) 60°
(B) 75°
(C) 90°
(D) 135°

5. B A B e et 504 ¥ Sied W
N G U1 I &9 0, 2
(A) 1
(B) 5
(C) 25
(D) 31

6. 37T TS A SR 3 HEHA © | 3T
srefieelt B | T A 30 o W FHS 0
e T3 @ 37K I R Tk wiifssa qhre
F YRS % I B | 3T R BT ?

(A) Tfi TS R T TH H THIRN
Sl

(B) S1efiTey A S@eh! # ST9AT A Ml
Sred & T &l

(C) I Frefey Hi s foh 7 T
3] g g1 SR ST, 3719
30 Y RN H hl Al T
Ul

(D) TR I 39 T W AW Yehifira
w1 % fore searfea w1

ircle
It A, B, C are three points on & C'rCIO
B = 90

with centre O such that ZAO i
and #ZBOC =120° then /ABC

equal to
(A) 60°
(B) 75°
(C) 90°
(D) 135°

The smallest number that should be
added to 594, so that the sum is a
perfect square

(A) 1

(B) 5

(C) 25

(D) 3t

You are working in a research lab. One
of your subordinates has done some
good work on her own and the work is
worthy of publication in a prestigious\
journal. What will youdo ?

(A) Will take all the data and pubhsh
in your name

(B) Will ask the subordinate to add
your name as one of the authors

(C) Willtell your subordinate that
unless you are made a co-author,
you will not allow her to publish
the paper

(D) Will encourage the subordinate
to publish on her own

r

2-D ; -

'!_

[4]
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EE——

E}gﬁaﬁﬁ’ﬁwﬁ,‘cﬁmswszw
afred 19 11 ™ 2| 9Nt et s
A1 S2 % T AHa g¢ Foly =t fp aet
B, B), (€) T (D) # & wa w
ﬁﬁwﬁﬁw% ?

U .

g1 :Efi W =T B |
sp et Rt < F |
et -

. F 97 Hiear € |

. o =i 2 |
(A) wad |

(B) Fae Il

‘(C) Frar 14l

M — [5]

)

7. Inthefollowing question, two statements

S1 and S2 are given followed by two
conclusions | and Il. Taking the two

statements S1 and S2 as true, decide
which one of the answer (A), (B), (C)

and (D) logically follows ?

Statements :

S1 : All pens are chalks.

S2 : All chairs are chalks.

Conclusions :

|. Some pens are chairs.

II. Some chalks are pens.
(A) Only |

(B) Only Il

(C) Eitherlorll

(D) Neither | nor ||
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8. = w3 amefl o <Y whan 3

33 & | Rt e = B

areafelat

FA . 3t ThR

| 60 75

[ 48 80

I X 55

WY 40 50
Ife SR el 3 Inafial o 3 whe 66
2, A 11 93 sl v x g
(A) 60
(B) 55
(C) 50
(D) 52

TAR-Hfha § STHeEeR goa1 3 30-%
T FHEA 8

(A) B
(B) 3mufEar
(C) forrem

(D) 3

8. Candidates of four schools @P

pear in

is
a mathematics test whose daté ' as

follows :
No. of Ave/fage\i
School | o didates|  Score
| 60 75
I 48 80 |
1l X 55
\Y; 40 50

If the average score of the candidates
of all the four schools is 66 then the
number x of candidates appeared from
school lll is

(A) 60
(B) 55
(C) 50
(D) 52

Purposely manipulating information in
communication is called

(A) Filtering
(B) Assertiveness
(C) Deviance

4D) Abstraction

[6]
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. el

s
0. AP R, X S¥ Z w dfw A 43 ¢ | 10. A, P, R, X, Sand Zare sitting in a row.
Sand Zare in the centre. A and P are

gaft Z FRARTNAIR PowE | he left of A
. | . Ris sitti the left of A.

il [T

(A) A (A) A

B) S (B) S

C) X ©) X

D) Z ©) 2

11. "~ A man can row a boat 20 km in 2 hours

1. @mmaﬁm%wmmﬁ

in down stream and 4 km in 2 hours

28?%153941%%91%1%4%@2@ . t - N
. e ﬁ a4 a.aﬁ ‘éﬁ In upstream. € speed or rowing the
;?:ﬁﬁ g boat in still water_will be
(A) 4 Feht/g ) 4kmi

6 km/h
®) 6 Rt/ 49 Ol
©) 8 ftt/d ) gyl

(D) 10km/h  +

o L -
[7] '

n
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12. Which of the terms of the two series :

12, 3F1 I el st ) AR .

63, 65,67, ... 3 3,10, 17, ... % -3 63, 65, 67, ... and 3, 10, 17, ... of

WG I YH FHE A 7 ascending numbers are equal

(A) 12 (A) 12

(B) 13 (B) 13

S (C) 14

D
(D) 15 (D) 15
13. T SR ¥ 370, 33 S THepa 1 13. Inaseminar the number of participants

giawTRrEt < g 45, 75 TS 1352 | in English, Urdu and Sanskrit are 45,

3% g FH & o7 TavTes Sl 75 and 135. What is the number of

6 T = Bf, AR TR wm rooms required to house them, if the

SR <6 S e 9T Tae a2 number of the participants in a room
and their language are same ?

(A) 17
(A) 17

(B) 255
(B) 255

(C) 65 (C) 65

(D) 135 (D) 135

2-D [8]
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00000

5

14.

15.

T i, Foraeht =g 8.4 |1, 3 3w
H = 2.1 Gt R, i et w men
ST AT 2 | e h e R

(A) 4.2F1H.
(B) 2.1&.d.
(C) 2.4¥H.

(D) 1.6&.1.

wg fiEl A, B, C, D, E 3R F & & T A
e Tt § STenT- 3 37 W ¢ | C
Y A3t E @ st i 3 T 1 D A
¥act BY %4 3 W e | EF §9E
n 31 wTw 71 fpu | T st €
R T W 3 T TRy 36T 81 3T
o fpu | E3 62 37 ¥ 6 | CF

14.

5.

A cone of height 8.4 cm and the radius
of its base as 2.1 cm, is melted and
recasted into a sphere. The radius of

sphere is

(A) 4.2cm
(B) 2.1cm
(C) 24cm

(D) 1.6cm

Each of the six friends A, B, C, D, E
and F scored different marks in an
examination. C scored more than only
A and E. D scored less than only B.
E did not score the least. The one
who scored the third highest marks
scored 81 marks. E scored 62 marks.

C’s possible score is

gvad: k:C %

&) 70
(A) 70

(B) 94
(B) 94
(C) 86 #)..88
(D) 61 (D) 61

[9]
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16.

17.

ST T HIS3S Y Teh 71 57 i, R
T W I HEd g IR Targ W I8
S HHT & T | 3T 1 K0 7

(A) 38 910 W 9R ¢ f6 30 39 9 =t
HT & FH I8 ATBH S 1
T &

(B) 3§ =iew %l #ifs I8 et sEE
I @ R, e @ e o wm
ST B

(C) =™ =1 WHfad Twemd AR IuH!
TEEA % o e wemes

(D) 5@ e fp &l 3 Hm H FW H
o s = s i @ wegw
&, 3 ==

A (x—1), 4x° + 3x° - 4x + kT TH
TUAEE 2, Al k1 9H ?

(A) 3

(B) 4

(C) -3

(D) -4

16.

17.

You assigned a new piece of work to
a junior who objects to it saying that
she does not know how to do it. What
would you do ?

(A) Insist that she has to do it as it is

a matter of office discipline

(B) Force her as she is merely making
an excuse, so she has to do the

assigned work

(C) Explain the nature of task and give

her an assistant to help her

(D)‘ Ask her to discuss with you,
where she lacks the knowledge

or expertise to tackle thg task
If (x—1) is a factor of 4x%+ 3x2 — 4x 4 k
then the value of kis
(A) 3
(B) 4
(C) -3

(D) -4

[10]
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o,
x -
ﬁl

N aﬁ@ﬁ@ﬁ%?ﬁ.rﬁ.%, 18.
/BAO =25° @1 £BCO =35°% |
e OADC 1 AR B

(A) 5—32 iR
(B) %8 0t 4.

(C) % EURCKi

(D) 48 =t &.HI.

* 19.
19, 3fe 246+2=6, g70+3=11,dd 739 5

% UH 2

In the given figure, the radius of
circle is 7cm and £ZBAO = 25°,
/BCO = 35° then area of sector

OADC is

@ 2 sqam

B 2 sqom

(C) 1—5;1 sg.cm

(D) 48 sg.cm

If 246+2=6, 870+3 =11, then the
value of 735+5 is

(A) 16

(B) 3

(C) 5

(D) 12

[11]
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20.

21.

A @ ol & By e @

(A) 36
(B) 35
(C) 34

(D) 32

Th B A W Y 4 Feh ol 52 6 iy

ém%aﬁ{m"@msﬁméﬂﬁ
EI R | A 3w T 5 Rty ey

A, 3 97 10 e Ted e e 2, 3w

20. The number of triangles in the below

21.

given figure is

./a

A student walks from his house with a
speed of 4 km per hour and reaches his
school late by 5 minutes. If his Speed

had been 5 km per hour then he would

WY & @ 2 have reacheqd 19 minutes early. The
distance of school from his house is
(A) 3frd ‘
(A) 3 km
(B) 5 o B 5km
(C) 6 i (©) 6km
J
(D) 4 feprfy " (D) 4 km
2-D

[12]
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23.

it FIeRETes® el oot qe9 219 § |
afe A aft gesi T 1 fefra @ i
3 B T 1t T % W= bl Fefa
HA & IR C g+t 7%y feraes %
Y= Sl &G e 7, a3 grl
% fou ot om@ ?

(P

22,

23.

There is a family consisting of a
husband and wife, their three sons,
two daughters and three wives of
three sons. Number of women in the
family are

(A) 5
(B) 6

) 7

(D) 10

Most guitarists are bearded males.
If A represents the set of all males,
B represents the set of all bearded
males and C represents the set of

all male guitarists. Then the correct
diagram for their relations is

e
CX Scanned with OKEN Scanner
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24,

25.

T % 2ot PRS, TWY, XBE, BGK, ?
3 g W5 (7) % fore we fspew g |
(A) FLQ

(B) ELP
(C) ELQ
(D) FLP

maﬁﬁaﬁﬁgﬁaﬁ%a@m@
IH AR E | Yo% s} dreeh
W%m-msﬁaw(w
HIST) TR % e s 2 | Fretffae
& 8 -1 TR ey T

(A) ST gre Trdter

(B) itg g =l e

(C) Hfa mream

D)+t wrr et % form wem
EGZl

24, Select the correct alternatiye for
missing term (?) in the series,
PRS, TWY, XBE, BGK, ?

(A) FLQ
(B)
(C) ELQ
(D)

25.  You are attending a meeting on the rise
of bad elements in your district. The
meeting is continued with good lighting
arrangement as well as with proper air
conditioning etc. Which of the following
is not a barrier to the communication ?

AT Noisy atmosphere
UB) Congested space

€J Improper medium

(D) Asking questions to get clarification

26. emﬁ‘ fom o g % it EERSCE 26. You have been fireq from the company
PR A H ST R 2 | 3T9eHT foryour act of taking long leave without
RN i S o prior information_ What will be your
) reaction ?
(A) 31T = U ¥
(B) w@iwft % fywa #f gug 3Ry (A) Send your resignation
4 Terepra st (B) Complain to the higher authorities
(©) st @ g N o about firing
ST 23 T Iy (C) Request the authorities to give a
last chance af ideri
0) S S, o g after reconsidering
- T TR (D) tG.o on hunger strike tj you are
S aken back
2-D

: [14]
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g ofz Pt 2 S H, KAVERI 91 VAKIRE |

fer@ <l 8, T MYSORE %1 3¢t e oy
3 foran ST

(A) EROSYM
(B) SYMROE

(C) SYMEOR

D) T A H1E T

28.

a‘l"

2D

f frami % rE w490 e,
588 e 7o 882 foFn W & | T
R (4m) 6 e Fwar e
A ) T A 9T % a1 9 A
R Geh ?

(A) 98 ferun
(B) 200 e

(C) 290 fepm

27.

28.

If in a certain code, KAVERI is written
as VAKIRE, then in the same code
MYSORE will be written as

(A) EROSYM

(B) SYMROE

(C) SYMEOR

(D) None of these

Three farmers have 490 kg, 588 kg
and 882 kg of rice respectively. What

is.the maximum capacity of a bag so

- that all the rice can be packed in bags

having equal weight ? -

(A) 98 kg

(B) 200 kg

(C) 290kg

(D) 350 kg
M 30 RE
- VMERO

\

-
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29. Tohe W Y 32 ) wim ¥ W Swwe 29 29. A number when divided by 32, the

?, TR 8 W Y W Sywa 3 remainder is 29. The same when
divided by 8, the remainder is

(A) 1
(A) 1

(B) 3

(B) 3
C) 5

€) 5
D) 7 D) 7

30. P,Q R, S, TR U ot =afdd @ 9@ & 30. P,Q R S Tand U are six persons

AT AN R ISHAN Q R travelling together in a boat. Three of
q T oy § I E | P QR them Q, Rand T'are women and rest are
S T &t webrerd § o s miwmw men: 7 Q, Rand Tare all vegetarians

and others are non-vegetarians. Only
Q. Tand U know the swimming. The

non-vegetarian male who does not
know Swimming is

2 1 %A Q, T 31t U &1 QUi et @ |
%Wﬁgwﬁmqﬁm,%

A8

(A) S
(B) U

(B) U
€ P (C) P
m T (M T

CX Scanned with OKEN Scanner
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.

p fabcd 3R e &1 U1eT 28 R wen 31. If the mean of a, b, ¢, dand eis 28 and

aycﬁemmz“%ﬁabéﬁd the mean of a, ¢ and e is 24 then the
1 T | mean of b and dis

(A) 31 (A) 31

(B) 32 | (B) 32

(C) 34 (C) 34

(D) 33 (D) 33

32. If'+‘'means‘X’ (multipliéation), ‘“’means

2. 7 4w e (), =
+ (Rarrem), 5 1 31 REREL
oy aped o (e A, A FefetEd
whew f g BR-A T E 7

/A)m p:3=26 (A) 18+6-4x2+3=26
18+6—-4x%x2+9=

B) 18+6+4-2+3=22

+ (division), ‘x’ means ‘+’ (addition) and
‘+’ means —’ (subtraction). Then which

of the following equation is correct ?

B) 1826+4-2+3=22

© 6 63 (C) 18-6x7+2+8=63
18—6x7+2+07

(D) 18x6-4+7x8=47

®)18x6—41125j11”,,,/——
— [17] =+ =

Q.D s _— R \"L‘)
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33.

34.

AT TH Gewe IR § IR weus %
T wE TR Y | o s a1 R sk
TR A Aot § S 9 o
T AT TR IR B I =) 3710
SR T ST R | 3T TR 7

(A) W€ | T 0

~(B) G fren w wivwie o < i

Ha
(C) & W@ 3ir 5w = wid & s Ay
SR A
(D) s wffer <hl gl HeAr wamdy
gt V2, 33, 42 H ged 9
e 2 |
AAY 2
(B) %3
C) ¥4

(D) @i atraw &

33.

34.

You are working as a senior manager
in Public Sector Unit (PSU). Your boss
comes and insults you in presence of
others. Besides that he promotes a
man, above you who is junior 10 you.

What will you do ?

(A) Resign from the post

(B)

Try to take the revenge when right
opportunity comes to you

Keep patience and ask the reason
when you find him cool

(D) Tellthe complete incidence to the

management committee

Out of the numbers V2, 93, 47 the
largest number is \

(A) V2

(B) ¥3
(C) ¥4

(D) Allare equal

(18]

ol ¢
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B 6535
% 2141534424 833 323
35.

36.

y¢2

e 99 1 Qe 154 =0 0 2
n=2—72@ﬁqtmq&q'rq%

(A) 333t
(B) 11 &

(C) 22

- (D) 44 %

fiq (A) ABCH AB =643 &A1,
AC = 12 8.1, @ BC =6 4.H. @
0] B 9H 3

(A) 120°

(B) 60°

(C) 45°

(D) 90°

343 33327450 £83Y 19

35. If the area of a circle by taking T = Z

36.

PLEL)
1394393 %510

22

pR—

is 154 square centimeter then its

perimeter is

(A) 33cm

(B) 11cm

(C) 22cm

(D) 44 cm

In triangle (A) ABC, AB=6+3 cm,
AC =12 cm and BC = 6 cm then the

angle Bis

(A) 120°

(B) 60°

(C) 45°

(D) 90°

v 2 - Den
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37.

38.

P 3l Q afcfiaret o g6 # ared § |
R 3 P e oit &  ard § |
S 3 Qaiefioner 3k fvdve & ared § |
R, S 3R T Jwaier 3iv pester i a0
? A B Reerdt W ae i
I=DBTR 7 |

A) Q

B) P

C) s

(D) R
qﬁ?ﬁ:ﬁangﬁazs+4zz+32—43ﬁT

224z a® (z-3) @ oo %@
R EHT ST I B R 7 g’ o A D

(A) —1
(B) 1

(C) -2

37.

38.

"y O DI

Al
\

VR A
yoe Y

P and Q are good at Volleyball anq
Hockey. Rand P are good at Baseba||
and .Hockey. S and Q are good at
Volleyball and Cricket. R, Sand T are
good at Baseball and Football. Which

player is good in four games ?

A @

If both the Polynomials

3 2
8Z°+4z° 4+ 37_ 4 anq 2%~ 474 aleave

the same remainder when divided by

(z—3) then the value of ‘a’is

(A) —1

[20]
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39. frd wmm % T e 1w W o 39. By selling a product ata particular price,
+Q T R B 10% H AN BT @ | the profit to a person is 10%. If the
3t aE AR oI W g @ W same product is sold at double price
39 yiyea &9 8 the percentage profit is
(A) 20% (A) 20%

(B) 100% (B) 100%
(C). 120% (C) 120%
(D) 140% (D) 140%

a0, fmd: . 40. Given that -

. P,Q&ITZ I | . Pis the mother of Q.
. RPHISAZ | Il. Ris the son of P.

. S, T 9T 2l lll. Sis the brother of T.
V. T, Qa2 | IV. Tis the daughter of Q.
qa S Fgd t Then grandmother of S'is

P ® P
(B) @ (B) Q
(C) R (C) R
(D) T O T
e N L —
2-D @ = [21]
Ao
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41.

A a=3+22 qur p= ! a5 a2+ b2
HHE R a

(A) 36

(B) 34

(C) 38

(D) 342

U9 AT 42 | U9 T 44 aw o foro few

feu e gque-fam & foredt s =1 2011 & 2020
T faftm 59t w @ 7 (7w wig wE §)
TN R | Y% 0g % feu wrafia evz wem

41.

If a=3+2~/§ and b =1 then the
value of a’+ b2is

(A) 36
(B) 34
(C) 38
(D) 34v2

Directions for questions 42 to 44 :

In the below given bar diagram the
expenditure of a state from 2011 to 2020 on
5 different items is shown (in thousand crore
rupees). For every item the shadowed bar

599 % @9 ®I a9 TENRY 3 5 a4
¥ w9 e b “ STRISITIE SN shows the expenditure for first 5 years and
the unshadowed bar for the next 5 years.
s 55 53
50 50
1 7 5 7.
o A1 S| A P wl
i P s - 35
7 - 2L
30 [ = ]
; i L o 25
1 & [~ [~ -
20 - / / / /
1 & >~ ] % [
7 ] %, v 5
10 - o ] e e 7%
ZERZERZENZENZ
A1l Al Ul Ul FE
(- T J g' J \_'_l %Q ( J
P Q R S T
42. W QUE T W 2011 -2015F 7an w¢ 42. . Total of the expenditures (in thousand
RW 2016 — 2020 # §371 $1 @4 (F91 crore) on the items @ and T for
g #) R 2011 - 2015 and on the item R for
(A) 95 (2/;))1 69; 2020 is
(C) 65 (C) 65
(D) 100 (D) 100
2-D [22] ks ~y
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43.

44,

45.

Te Q W 2016 — 2020 & @, P W
2011 -2015% @4 ¥ Toran wfasma afers

? 7

(A) 5%
(B) 10%
(C) 15%

(D) 12%

T+ft 7el W 2016 — 2020 ¥ g3 F T
(3R g #) 2011 —2015F gL &
31fereh /0 B

(A) 13%H

-(B) 13 31Tk

(C) 23%m

(D) 33%F%

e ¥ fpa o ¥ foru Frafafea Wesw
FHfteRol g9 % g g Tel el 7
3x+y=1

(2k—1) x+ (k= 1)y =2k + 1

43.

44,

What is the percentage increase in the
expenses on item Q for 2016 — 2020
over the expenses on the item P for

2011 — 2015 ?
(A) 5%
(B) 10%
(C) 15%
(D) 12%

The total expenditure (in thousand
crore) on all the items for 2016 — 2020
is more/less than that for 2011 —2015

by

(A) 13less
(B) 13 more
(C) 23 less

(D) 33less

45. Forwhich value of ‘k’ will the following

pair of linear equations have no
solution ?
3x+y=1

(2k—1) x+ (k=1)y=2k+1

(A) 1 (A) 1

(B) 3 B) 3

(C) 2 (C) 2

(D) 4 (D) 4
2-D [23]

C} Scanned with OKEN Scanner



-

s p ' _ Inastorm the top of a vertica| t
46. T el g i ok d oo | 9 | | "ee afy
N , bending from a height of 5 metrg from
5 Wit i I=E W g Qe H IR the earth, meets the earth ata distang,
B 127 ) gt W W g R | g

of 12 metre in the horizon from itg base

H ST 7 The height of the tree is
(A) 7 (A) 7 metre

(B) 137 (B) 13 metre

(©) 1750 (C) 17 metre

(D) 187fiex

(D) 18 metre

47. T e, v & som g B feamae
i s et ¢ e - 47. Alistenerjs concentrating on the
e FE R aPPearance and delivery style of te
39 e | G 0 e R

SPeaker instead of the subject. Inth

Case the barrigr to listening is -
(A) Frod m ugemy

(

A - |
| ) Jumping to conclusion

(B) fawar % =it & wew & & ok ayy

B . .
(B) Prejudging the subject
(C) == de weh gy
C N
(C) Galherlng only the facts
(D) & Frerg
— (D) Wrong focys

[24] R R
iy,
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18. IR U fifvea #Is (Fe w@A) H, 48. If in a certain code, GLAMOUR is
GLAMOUR %I IJCNMWP feran e 8 written as IJCNMWP and MISRULE
37 MISRULE s OGUSSNC feran is written as OGUSSNC. Then
T R, @ 36 He @7 ¥ TOPICAL TOPICAL will be written as
(A) VMRJECN
(A) VMRJECN
(B) VMRHACJ
(B) VMRHACJ
(C) VMRJACJ (C) VMRJACJ
(D) VNRJABJ (D) VNRJABJ
49. T 9&I1 369 3o+t 3fes @ o 861 49. A number is as much greater than 36
Hq | I8 971 B as is less than 86. Find the number.
(A) 63 (A) 63
(B) 72 (B) 72
(C) 61 (C) 61
(D) 56 (D) 56
50. @ TT$ JTepid H = <hi T fohalt B 2 50. How many squares are there in the
given figure ?
(A) 20 (A) 20
(i) I (B) 14
©) 18 (C) 16
=) 48 () 18
2-D [25]
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In sequences of cricket matchgg

e B 5 i & g Y =Efeis 51.

PlIg ¥ st West Indies defeated New Zealang
W 4 ST F, WA A %ﬁ'@g %! 3 9N, 4 times, India defeated New Zealanq
ARRET 3 AT W 3 W | 3 times, Australia dt?feated West Indieg

_ 3 times. West Indies defeated Indig
RN A W H Rk T SR T A only once and India defeated Australia
I ok SR T B | Falfish SR once. The country which lost most of
v w2 the times is

(A) India
(A) ¥WRd
(B) I (B) West Indies
(C) =pheie (C) New Zealand
(D) Igferm (D) Australia

52, digT 10 forft g <1 3R =erar 8 | 39 52. Sohan walks 10 Km East. Then he
91 98 39 R 3R g WAl B IR turns right and walks 15 Km. Then he
15 fpft =rofam 2 | : 98 3T g 3R further turns right and walks 10 Km.
10 Tl s 2 | SRR 77 1) Then he turns left and walks 20 Km.

In which direction and how far away in
3TR g ST § 31 20 foprt =reran € | 97 :
mﬂg g 5 m; Km is he from his original position ?
YRR I d feha I°
R fpafema g ¢
(A) 25 Km North
(A) 25 feprt ST
(B) 35 Km South
(B) 35 Tt gféqm
(C) 45 Farft efqm (C) 45 Km South
(D) 35 ot 3t (D) 35 Km North

J
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53.

54.

55.

AH 3T B H 7T A 25% I 8, @
B 3 A 3 & fran lava #9 8 7
(A) 10%
(B) 15%
(C) 20%
(D) 25%

foret ot <t I e hit FEE H 25%
it gig FE W ITH &6 A Tiava Iig
Ll

(A) 25%

25,
16

(C) 40.5%

(B)

(D) 56.25%

gfg &afd A, B, C, D 3R E Ts% THER
T Ued & | S 998 Bl Ugdl & 98 3
CoI &1 8 | I 9@ 91 & ugal & 36
A T 8 | E ved aren vgen an sniah
HRIBINAF 9 ues 9 |
B3 wHrER A el fear 7

(A) A

B) C

(C) D

(D) E

53.

54.

55.

A’s income is 25% more than the
income of B. Then B’s income is what
percent less than the income of A ?

(A) 10%
(B) 15%
(C) 20%
(D) 25%

By an increase of 25% in the length of
each side of a square, the percentage
increase in its area will be

(A) 25%

25,,
16

(C) 40.5%

(B)

(D) 56.25%

Five men A, B, C, Dand Eread a
newspaper. The one who reads first
gives it to C. The one who reads
last had taken from A. E was not the
first or last to read. There were two
readers between B and A. B passed
the newspaper to whom ?

(A) A
(B) C
(C) D
(D) E

[27]
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56. AR a, b cwh AW E o (a+ b+ 0)=0 56. If a, b, ¢ are all non-zero ang
5 mi ap a+ b+ c)=0then the va
ﬁaa—+b—+c— EARC R ( ) bk
bc ca ab a® b® c?
-b— +—+ —aB is

) 1 c ca
(A) 1

B) 2
(B) 2

C) 3

(D) O (D) O

57. i J

QTR S # o fhaw wt § o S7.  How:many squares are there in the

given figure ?
I i el

(A) 18 (A) 18

(B) 14 (B) 14

(C) 10 © 10

(D) 9 D) 9
— — 2

(28]

C} Scanned with OKEN Scanner



58.

A B C, D, E3 F =R wi§ § | i3 oft
2 =R Wi T & 37 S T8 2 feg wvf
1 TR T B WIE H T & eArh
qgaT & | TER B 17 94 &1 2 3 T
SSIE, 22T ® 2 | F3® B3R D&
S a2 ASHA BAT IR | C3U H
DATTIR | ATH S CA TSI 2 | &

(A) D, 20 s &I 2
(B) F,18Td %12
(C) F,19ad &1 &
(D) F, 2049 =1 3

58.

A, B, C, D, E and F are cousins. No
two cousins are of the same age but
all have birthdays on the same date
of the same month. The youngest is
17 years old and the oldest E is
22 years old. Fis somewhere between
B and D in age. A is older than B.
Cis older than D. A is one year older
than C. Then

(A) Dis 20 years old

(B) Fis 18 years old

(C) Fis 19 years old

(D) Fis 20 years old

59. 438 U T H1 feran Yfowa & 2 59. What percent of one rupee is 4 paise ?
(A) 4% (A) 4%
(B) 0.4% (B) 0.4%
(C) 0.04% (C) 0.04%
(D) 40% (D) 40%
60. 2vft 24, 21, 18, ... % fora wei &1 AT 60. Sum of how many terms of the series
78 2 7 24,21,18, ...is 78 ?
(A) 53112 (A) 5or12
(B) 74114 (B) 7or14
(C) 4@ 13 (C) 4o0r13
(D) 63110 (D) 6o0r10
2-D [29]
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61. SB®Wm P, QR S TavvUE Q3T 61. There are sixplaces P, Q,R, S T
e m @ R ) Palt Q um N and U. Qand T are not historica|
TR PN Ra R @ & | SH places. P and Q are not alike, Pig
uTiifes Torm T R 1| Patk S Wemrfes wm not a hill station. S is not a religioyg
TR | WA Q) e uififs e § 2 place. Pand S are not historical

. places. Which two places are
(A) PR Q | religious places ?
(A) Pand Q
(B) T3wU
(B) Tand U
C) R3S
© : (C) Rand S
(D) Q3wU (D) Qand U
62. TH ia it vy forweh =@ 1 A 3k 62. A copper rod of diameter 1 cm anc
8HA. R, F 187 o wen T length 8 cm is drawn into a wire o
T HILTE T AW SN Sl & | A length 18 m and of uniform thickness
HIeTE gt then the thickness of wire will be
®) 35 & A -
30 7 30 cm
®) — @M B)
15 15 cm
(C) 2 ©c) !
20 2—0 cm
(D) —- ., © X om
10 10
2-D [30]
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63. SRR X, Y, 23R W = Ry g 63. Fourcities X, Y, Z and W are connected
FaR aieed & fafi wwTl o | | by different routes and different modes
g% T g of transport as given below.
. X3 Y HH 9 58 I g . Xand Y by both boat and bus
I Y3k W A [l. Yand Wby air only

N, Y3k Z foum 3 €@ g
IV. X3IR W et 98 g1
V. X3 Z ed & g

Y ¥ W G $H-81 911 GRd aIT difeh

0 Y HY 3 3T JUTTA! T ITFT Which route would be possible from
A ? \ Y to W so that atleast 3 different modes

Ill. Y and Zby air and bus
IV. Xand Wby bus only

V. Xand Zby train only

can be used ?

(A) Y-X-Z-W
B) Y-Z-X-W '

®) Q/V—Z—X—W

(A) Y-X-Z-W

(C) ¥=Zoolm Wl . (C) Y-Z-Y-W
(D) 38 | HI3 & | (D) None of these
64. IR a:b=c: daE az_czmm% 64. Ifa:b: c: dthen the value of
' ‘b:c: T g
o PO is
(A) ba/ i
(A) Ao

®) b, | 2
/a ® b/
bd (C) acb d

(D) a%c (D) a%c

2-D T I £
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65. < wrew! fi amy A 20 9 W s E |
5 i, W weh B oy O e
7Y H 5 T | I A oy

A B

(A 30T, 10
(B) 2544, 59§

(C) 2939, 9ad +
(D) 4094, 20 o

9 T 66, 67 3 68 = foru fdyr

ﬂ%ﬁmwvﬁaﬁ@@@wmmwaﬁ
ﬁﬁﬁm@ﬁmﬁqmmﬁﬁﬁﬁam%

| T FEEA W X 9,000 =R FL F |

66. Eﬁmwﬁﬁﬁm:ﬂﬁmw
BIR 7

(A) % 11,000
(B) % 12,000
(C) % 13,500
(D) % 14,000

65. The difference in ages of twg boys
20 years. Five years ago, the age of Olde
boy is five times the age of youngerboy
Their present ages are respectively

(A) 30 years, 10 years
(B) 25 years, 5 years
(C) 29 years, 9 years
(D) 40 years, 20 years

Directions for Question Nos. 66, 67 and 68

The following Pie-chart represents th
amount spent on different sports by a scho

administration in an year and the money spéf
on football is ¥ 9,000.

Basket ball

of
66. How Much morg amount is SF’ent
hockey than on football ?
) % 11,000

B) = 12,000
(C) 4 13,500

C} Scanned with OKEN Scanner



67. Wt T W g TA = 2 67. Total money spent on all the sports ié
(A) 84,000 (A) X 84,000
(B) ¥ 72,000 (B) X72,000
(C) X 60,500 (C) ¥60,500
(D) X 55,000 (D) ¥ 55,000
68. fshehe W g3 =4 § | 68. Money spent on cricket is
(A) T 30,000 ~ (A) 30,000
(B) 31,000 (B) % 31,000
(C) ¥ 31,500 (C) ¥31,500 -
(D) ¥ 32,000 (D) X 32,000
69. uTE @il % THE # K, L 3R M ugcarehiah 69. In a group of five people K, L and M
$ | M N3 R 3ATerR § . L M3t N are ambitious. M, Nand R are honest.
gfeam & o K, N9 e § | 5| L, M and N are intelligent, K, N and
@ 59 7 0 el ofA 6 TR R are industrious. Out of this group
s & _ the person(s) who is (are) neifher
industrious nor ambitious is (are)
& m e (A) Only K
(B) L3RR (B) Land R
(C) MR N (C) Mand N
(D) wg ¥ wig A& (D) None of the above group
- AT D), =¥ :
2-D M < - 1381 S e
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70. ‘S 1 R qewa B 73. “"I-@H % qH-HHE, S FEy
T, SEET S -, T T 3 fif
(A) Sl T ||” Wil M1 o ITUF 3Tea] Bg
HaH-ar @ ?
® = g
©) dRw@
(D) S@R
(D) WS ™
71. I G H FARY 74. 3 U W ITHR H A€ FW ATl
(A) =0 (A) e
(B) = (B) Fas
©) @ ©) Fm
(D) '-Hm (D) Eﬁﬂ
. & 3 3uwi & fha yor § ¢ 75, ‘TR i T 3
(A) @ (A) 3
(B) @™ (B) T
(C) =m (C) s
(D) df= (D) IR o A A Tl
2D RCI. Y
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76. -1 I IS B ?
(A) ST RN HT IuYer v

~FF

79. HN-T A G B 7

(A) =8 AU Gad 81 S UTA 2 |

feriam |
(B) FHIT TSR I IYF T (B) =8 AU &1 SIS WA 2 |
feriay |
»(C).Eﬁwaaammaqgaﬁsﬁw (©) &L TSI |
o | (D) o T YT S WIaT & +
(D) I 3TEatUl 1 IuFF 6
! 80. TEAT HI gfee ¥ T & fohad UHR & ?
7. e & e o Py 01
(A) Susied! « 03
(B) SH-TEN (D) 04
(C) Tf-3gH
(D) BRGR 81. ‘W’ﬁmé
(A) ?'?El,wlm
78. TUETG Weg ‘HEAT H WA B
(A) I (B) sreRfiv wwE
() ¥ O wiura v
(C) =
(D) 7= (D) wgshfe e
;-D [35]
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82. Wofi ST i b ane wi Rl fafy | 85 “fin’ wieg # yer 2
4 fofen & =) wia 9w 6w 41 et
w9 § when fwa mn i
(A) 15 37T 1947 Fi (B) =
(B) 14 foam=x 1949 % (C) =
(C) 26 S={t 1950 =i (D) 3
(D) 26 79X 1949 =t
86. ford T o yfewmor 2 2
83. ‘408’ = BeiwE # ¥ forEd 7 (A) 4918 dgh 39 |
Q
A) T %H 9| B R
* (B) %g;ﬁm%
T o
ﬁ;mmaﬁaﬁﬁ
(€Y aﬁ%;&quasﬁml
(C) 313 &H 9Id % :
(D) 3w & #1S 7
(D) 3 ¥ s T
87. I W& % foru ot & - I
- - Yafed g 7
@f T A, T 7 8w S s R 7
N (A) wides
(A) =g
®) (B) Fal/w=h
(C) faum (C) W
(D) wfem (D) s
2-D

[36]
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88. HIH =S @
(A) ¥, ¥, 9, 8
By &1,7, 9, %
(C) 4, 9,8, 4,7

D) 9,%,9,9, |

(B T g e s s
(A) =¥ e
(B) I W@
(C) uH @I

(D) femmg e

90. HYEH HRF &l % forg form areh fa=d

92.

(D) &

"I i BAHTE! T HEd & ?
(A)

(B) Hdret

(C) s=&u

{p) et

me%? 93. ‘qm,wwmsqﬁamm 7\
qATg 7
A) 7
“ (A) T ShT HIGT S s
B = (B) i W W= WO
© @ (G Sl
Py % fo (D) Wl w1 7
;-D qfxg_o;\v\b b;\o\"f’[° ), 249 ) U0 ] i[o
R | 20 W
i 4 A l%g,-
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94. Wl TS =S R ¢ A R Pufta =
3TUR SAATST |
(A) &
4B) wE™m
(C) e
(D) 3=
95. ‘HrEl % IRV’ ﬁm%
(A) 3R
(B) 3
(C) =

AD) ==

96. 22 IS 2018 i TG T TR
BRI SAIETE! o HHehISHUT 3 ToTt ot

N
97. W + 3W = wrA H wA-H a7
(A) & TR Ef
(B) T wR HfY
(C) ofg w afy
(DY st g

98. “FEm’ w1 Tt T &
(A) st "
(B) v
(C) &
(D)

99. ‘FHIW Sicht TFw Tty F Wy
erd 87

™

Gt o S e e T e v ®) e
B % R, R e R (©) =wem
i gEarTd foft % 52 9ol =y TumEy (D) gt
ﬁﬁ%mmwmﬁﬁm A -
e 1 ¢ ST s W@ﬁ?ﬁftﬁﬁ
A e ) s
9 i ®
(C) S (C) s
AP) T (D) wweh
S
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